Total Printed Page : 07 Roll No

BAS0-201
| lelkt d fu; &k kv i fjorid

(Bachelor of Arts (BA-12/16/17)
Second Year Examination, 2019

Time: 3 Hours Max Marks : 80

Note: This paper is of eighty (80) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.

us% ;giauikvlU h(8) vdledkgS lsrtu (3 [kMed] [K
x eafoHt r g5 f KlHdadk bu [kMaeafn, x, folrt
furBlsd sv ubjli ghi zued sntl nesgB

SECTION A / [kMd
Long Answer Type Questions ( ni#znlfleokysi zu)

Note: Section ‘A’ contains four (4) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer two (2) questions only

uls% [kM/* espk (4 nzntfh izu i, x;sgS R4 iz
dsfy, nwh (19 vd fu lr obf KiKAdadlshueal s
dey nis(2) izuedsnl nesgd

S-/602/BASO-201 1 P.T.O.



1. How do demographic factors produce social change?
Explain with example.

tutldh did fdl idl | let d ifjorid dlst & nesgé
nmigy. K1 fgr | e>lh A

2. Discuss the role of cultural factors in social change.

| lelt d ifjord eal kdird dldladh Hiedk dh foopuk
dht , A

3. Define modernization and differentiate between
Modernization and westernization.

VK tididj.k die i jHE% diit, rAk vK@didj.k ,oa
i f perdlj.kdsed vUj Li"Vdli, A

4. What do you understand by urbanization? Discuss
the major characteristics of urban societies.

wjldj.k Isvk Dk le>rsdgs ujh lelt dhigpk
fo ek ledh QK ; kdHt , A

SECTION B/[kM[k
Short Answer Type Questions (y2qmkh i zu)
Note: Section ‘B’ contains eight (8) Short answer type

questions of eight (8) marks each. Learners are
required to answer four (4) questions only .

us% [kMAK eaviB (8 yaanlkh izu fn x;sgI R4 izu
dsfy, viB (8 vd fu lifr gbf KiRded Iskueal sdey
Pk (4 iziedsntf nesgl
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1. Explain the meaning of social change.

| et d iflord dsvhdlsli "V dfit , A

2. Differentiate between social and cultural change.

| lekt d rAK| Kdfrd ifiord esavj crig A

3. What are the effects of technology on family life
i IEdhdsd . ki Koifd t lou esD ki o i MegS

4. How do economic factors effect social change?

viAd did fdl idk | let d ifiord disi Bior djrsgs

5. What do you understand by cultural lag?
| ledfrd foyEEWkl svk Dkl e>rsgg

6. What do you understand by linear pattern of social
change.

| leit d ifjord dsjbly fl AW | svk Dkl e>rsgs

7. Describe the different stages of evolution of society.

| et dsmmfedk dsfofHku Lrjledk Bk dHit , A

8. What do you understand by urbanization?

wjola | svk Dkl e>rsgé
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SECTION C /[KMx
Objective Type Questions /oLt t'B i zu

Note: Section ‘C’ contains ten (10) Objective type questions
of one (1) marks each. All the questions of this
section are compulsory.

us% [kM”* eanl (10 obryiBizufn x;sgBiRd izu ds
fy, ,d (D vd fuligr gsd [kMdsl Hhizu vfuok Z
o8

1. Which of the following factor is of population
growth?
(a) Increase in birth rate and decrease in death
rate
(b) Child marriage
(c) Poverty
(d) All of above
fuEfy Tk ed sdiS | kdkd tu i kofvadkds

(v) tlén c<tko eRg WK

(c) cly foolg
(1) fuik
(n m;@ I Ho
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2. Who has propounded the theory ‘Cultural lag’

(a) Ogburn

(b) Linton

(c) Herskovits

(d) Lavier

| idfrd foyEEukdkfl VA&d fdl usibrg fd; k\
(v) vikcuz

(o0 fy.\

(1) g

(N y&;j

3. Who is the author of the book ‘Social hange.’
Ay p* ued itrd dsyBd di6 gs

4. Ogburn has divided culture into how many parts.

(a) Two

(b)  Three

(c) Four

(d) Five

v Keudsl \dir dlsfd rusHkleesfoHit r fd; kg8
(v) ns

(¢) rh

(1) pk

(N ilp
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5. Who is the propounder of the theory of evolution?
(a) Herbert Spencer

(b) Coser

(c) Spengler

(d) Pareto

fulkl ed snmfedfl r fl VAW dsieUd dIG g8
(v) gc\VAdj

(c) dlsj

() Lsyj

(n) | ]SS

6. Who is the author of the book the ‘Social order?
sy VIVE itrd dsyBkd diS g
7. Who is the author of the book ‘Social change in

modern India’?

Vigy py ueldd f. MK ityd dsyfld diS g8

8. Who gave the concept of Sanskritization?
(a) Yogendra Singh
(b) M.N. Srinivas
(c) W. Moore
(d) K. Davis
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| Wirdj.kdhvol k. kfdl usfodfl r dhgS

(v) ;lsbiflg

(¢ ,e,l-JHuok
(1) MYwes

(n dsMol

9. Which of the following is related to technology?
(a) Machines
(b) Innovations
(c) Construction of buildings
(d) All the above
fuEidr ed sdi6 i B&dhl o EfUr g8

(v) ¢€lha
(c)  uolpk
(1) edku dkfuelzk
(N ;glHh

10. According to Malthus population growth is
geometrical. (True/False)
eRft dsvubl tu b ko Bl kh vigk eagshg®

(IR@ R)

sesfestokoksk
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